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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

6000 - —&— ECO
5000
4000 - ®
3000 -
rning: col ['FVOEC'] is missing
0 10 20 30 40 50




Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-14 0
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P3-14
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P3-14

BfiE) | EBIETK (FD) | EB=E (EH/) | XK EFRF

07:10 300 150.0 BS| 1Ri%e07:10 Bz (GREMEESE)
07:45 300 150.0 Rg| 1Ri%e07:45 B (REEREE)
09:40 300 150.0 (Z=| 1Ri%@09:40 Bzh (KABERESE)
11:10 300 150.0 S| Rige11:10 Bz (GREEESE)
12:30 300 150.0 S| Ri%e12:30 B (RF{EREE)
13:50 300 150.0 (Z=| 1Ri%@13:50 Bzh (GREBERSE)
14:50 300 150.0 (2 =| 1BRi%e14:50 Bz (kBFERSE)
23t1]2100.0 (70%) 1050. 0 32 HKEC: 2080.0, PH: 5.6

TERRHLER 2 STEEARTF (195.0 :

ZRIALBRERE153.0 ml.

#H[ERECE (2665. 0 vs 5955. 0) 15

153.0), AlEEHT—@ % XA HS

AEREMEC (2665.0) 5i%EEC (2000.0) RELK KA, /T
[E&EC 5955.0 K&, #iYF{RKECAE:&PikER




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=48 (2025-05-18)

R S e i ety
VI, VB8RV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 1560

1200

T
—_
o
o
o

55F 1000
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( —_ ME #
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100 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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FRV (ml d-1)
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m=435, FV0=0 m=485, FV0=0 m=585, FV0=0

391 —e— ME 36.04 —®— ME 37.50 1 — @~ ME 38.04 —® ME
38 1 37.25
35. 5 -
37 - 37.00 - 37.5 -
36 - 3501 36. 75
25 36. 50 37.01
34.5 -
36. 25 -
347 36.5 -
T T T T 34 0 T T T T T T T T T
400 600 800 1000 435 440 445 485 490 495 585 590 595
m=670,m FV0=0 m=740,m FV0=0 m=805,m FV0=0 m=885,m FV0=0
- ME 3.5 —@— ME - ME - MNE
38.5 -
38.5 -
38.0 -
38.0 - 28.0
38.0 -
37.5 1
37.5 37.5 -
37.5
37.0 1
37.0 - 37.0 -
T T T T T T T T T T T T
670 675 680 740 745 750 805 810 815 885 890 895
m=935,m FV0=0 m m=435,m FV0=0 m=485,m FV0=0
- ME —o— MW —o— MW
39. 00 - - i a a
40 37 4 40
38. 75 -
38 36 39
38. 50 -
35 - 38 A
38. 25 - 36 1
34 = 37 a
38. 00 34
33 -
37.75 - —— MW 36 -
T T T 32 T T T T T T T T T T
935 940 945 400 600 800 1000 435 440 445 485 490 495
m=585,m FV0=0 m=670,m FV0=0 m=740,m FV0=0 m=805,m FV0=0
10 4 —o— MW 10 —— MW —o— MW —— MW
40 - 40 -
39 - 39
39 - 39 4
38 - 38 4
38 - 38 -
37 37 -
37 37
36 L T T T 36 T T T T T T T T T
585 590 595 670 675 680 740 745 750 805 810 815



m=885, FV0=0
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—— MW
39 A
38 -
37 A
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T T T
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P3-14

AyiE) | EBIATK (FD) | EBE (BEH/HK) | XHR SRR

07:25 294 150.0 (2 =| 1BRi%e07:25 Bz (kBFERSE)
07:40 294 150.0 |Z=| 1Ri%e07:40 Bz (RFEESE)
09:25 294 150.0 |Z=| 1Ri&e09:25 Bz (KPBEEE)
10:50 294 150.0 (2 =| 1BRi%@10:50 Bz (kAFERSE)
12:10 294 150.0 B Rige12:10 Bz (REAERE)
13:15 294 150.0 S| 1Rige13:15 Bah (REERESE)
14:10 294 150. 0 | Ri%e14:10 Bz (REERESE)
15:05 294 150.0 RS {Ri&e15:05 Bz (REERS)
23t 2352.0 (8%) 1200. 0 3233 %EC: 2080.0, PH: 5.6

TERRHLER 2 STEEART (191.0 :

PRIAEBRIERE147.0 ml.

Bl /&HECZE (2660.0 vs 6170.0) 5

147.0), AlEEHT—R % XA HS

AEREMEC (2660.0) 5i%EEC (2000.0) RMELK KA, /T
[E&EC 6170.0 K5, #iYF{KECAE&FikE R




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=47 (2025-05-17)

[ R S e T e T e T T

V1, VBP®RY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET L 2000
1528 -

100 A 1500 - 1500

085 1200 176
94
F 1000 -~
50
40 - 500
Warning: lcol [FVI',| "FVO’'] missing 00
0 - 40
¢ o v — ME #

0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
300 Bylnit @P50 02:14: ET=1422 Fg=1800.0 Ro=461.0 t
- 2000
200 -
- 1000
100 -
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
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- - 1000
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OO0 LI 5 M L N e 0
I -
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200 A 1
1
1 - 1000
100 - !
1
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RS = = == T —" N —— 0
03l B | BalBnl27 22

0.6
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0.2~

0.0
1500 4 ‘ —_ u
| _obs

PPFD_obs

RH
RH_obs
RHo _obs

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=495, FV0=0 m=545, FV0=0 m=610, FV0=0

—&— ME —&— ME —&— ME - ME
36.5
38.0 -
37.5 A
36. 0 1
37.5 A
37.0 -
35.5 1
37.0 A
36. 5 1
35.0 A
36.5 1
T T T T T T T T T T T T T T
500 600 700 800 900 495 500 505 545 550 555 610 615 620
m=675,m FV0=0 m=745,m FV0=0 m=805,m FV0=0 m=865,m FV0=0
—-@— ME 38.5 4 —@— M_E —-@— ME -&— ME
38.5 1 38.5
38.0 A
38. 0 - 38. 0 A
37.5 A
37.5 A 37.5 A
37.0 -
37.0 - 37.0 -
T T T T T T T T T T T T T
676 678 680 682 745 750 755 805 810 815 865 870 875
m=925,m FV0=0 m m=495,m FV0=0 m=545,m FV0=0
37 -
—-@— ME 40 - —-@— MW —-@— MW
39 +
36
38 + 3g A
35
36 37 4
34
36 -
34 4
33 35
39 - —-— MW
925 930 935 500 600 700 800 900 495 500 505 545 550 555
m=610,m FV0=0 m=675,m FV0=0 m=745,m FV0=0 m=805,m FV0=0
40 A i
—0— MW —0— MW —0— MW 40 —0— MW
39 -
39 + 39 4
38 -
38 + 38 -
; 37
371 37 -
36 36
36
610 615 620 676 678 680 682 745 750 755 805 810 815



m=865, FV0=0

40 + —— MW
39
38
37
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m=925, FVO0=0
—— MW
40 -
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37 -
36 L T T T
925 930 935
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P3-14

TERRHLER 2 STEEART (195.0 :

PRIAEBRIERE147.0 ml.

#H[ERECE (2660. 0 vs 6065. 0) 15

BriE) | EBIATK (7)) | EME (BEH/HK) | XKR ERR

06:45 300 150.0 B 1Rige06:45 Bzh (REEESE)
06:50 300 150.0 RS {Ri&e06:50 BHah (REERHSE)
09:00 300 150.0 |Z=| 1Ri&@09:00 Bzl (RkE{EEEE)
10:20 300 150.0 | =| 1Ri&@10:20 Bz (RB{EEE)
11:30 300 150.0 (2 =| 1BRi%e11:30 Bz (kAFERSE)
12:30 300 150.0 (=] 1Ri%e12:30 Bz (CGkBERSE)
13:20 300 150.0 | =| 1Ri&e13:20 Bz (KRAEEE)
14:05 300 150.0 (2 =| 1BRi%e14:05 Bz (kAFERSE)
14:55 300 150.0 (8 =| 1Ri%e14:55 Bz (GkBFERESE)
=2it[2700.0 (9%) 1350. 0 323 %EC: 2080.0, PH: 5.6

147.0), AlEEHT—R % XA HS

AEREMEC (2660.0) 5i%EEC (2000.0) RMELK KA, /T
[E&EC 6065.0 K5, i F{KECAE&FikE R




P3-14_0, Day=46 (2025-05-16)

T e g g g S B B

100 A

50

VI, VO PRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

1500

80

139

Warning: lcol ['FVI’,

"FVO' ] missing

1500 470

40

- 2000

045
- 1000

FRV (ml d-1)

L
©
Iy
E
>
i
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
QOO- 1
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£ 200 , z
£ ! [ 1000
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_ 1001 | -500 3
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s EEEEEa P W R B B2 2212212-1221221221232122 1221 0 [T 0m &0 B | 2000 =
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(—:_ ByWoFv @P50 02:14: ET=1045 Fg=1350.0 Ro=312.0 | 1500 %_
Ezoo- ' e e e e E
\ I ~—
= ! L 1000
E | i
- 1001 : L - 500 S
1.0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
s EZ 2727 W W | W | % | % | % (27 52122122122122122 3213212210 [Fn0m %0 W
0.6 -
0.4 1
0.2 A
1800 3
—_— 4
[ ] | _obs
1000 + —@— PPFD obs

500 -

40 ~

ol N
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RH_obs
RHo _obs
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38.

37.

37.

39.

38.

38.

37.

39 -

38 A

37 A

36

35 -

T T
600 800

m=635,m FV0=0

0_

——

635

6&0 6&5
m=845,n FV0=0

5 4

0 -

——

845

850 865
m=465,n FV0=0

35 -

34

33

32 -

31

30 -

——

465

470 475

36.

36.

35.

35.

34.

38.
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37.
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39.

38.

38.

37.

m=465, FV0=0

4%0 4;5
m=690,n FV0=0

690

695 700
m=890,n FV0=0

——

890

865 960
m=515,n FV0=0

38

37 A
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35

34 -

33 A
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——
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520 525

37.

37.

36.

38.

38.

37.

37.

36.

39.

38.

38.

37.

m=515, FV0=0

5&0 5é5
m=745,n FV0=0

7éO 7%5
m=960,n FV0=0

965 9%0
m=580,n FV0=0

——

585 590

38.

37.

37.

36.

38.

38.

37.

37.

m=580, FV0=0

0 -

5 4

—e— ME
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m=800,n FV0=0
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0 -

—o— ME

40

T T
800 805 810
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m=635,n FV0=0

38

37

36

35 A

34 4

-o— MW

635 640 645



m=690, FV0=0
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m=960,m FV0=0
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